
POWER TOOLS

www.ronixtools.com

RP-0230
Industrial Induction High Pressure Washer 230bar



POWER TOOLS

www.ronixtools.com

Number Name

1 Foam

2 Foam's lid

3 Rack welders

4 Hexagon locknut M8

5 Support ring gasket

6 hexagon bolt M8×40

7 Hexagon pan head screws

8 Hexagon lock nuts with 
non-metallic insert

9 M8 Hexagon nut

10 Flat washer φ8

11 spring washers φ8

12 Hexagon head bolts 
M8×30

13 Motor

14 Cross recessed pan head 
screw M6×10

15 Big Roller

16 Hexagon locknut MI2

17 Cable screw waterproof 
connector

18 ST screw

19 Switch box 

20 AC contactor

21 Instal rail

22 Power cord kit

23 Hexagon socket head cap 
screw M5×15

24 Switch box cover

25 Power switch 

26 Motor wire

27 The trim

28 Nozzle fixing sleeve

Number Name

29 Water inlet pipe Assy

30 Nozzle 0°

31 Nozzle 15°

32 Nozzle 25°

33 Nozzle 40°

34 Nozzle 65°

35 Rubber cap

36 Hook

37 The handle set

38 High pressure steel
braided pipe

39 Coil wheel assembly

40 YLG150 gun

41 Frame push the

42 8mm Single head play 
button

43 Quick lance

44 Right Angle conversion 
high pressure pipe

45 Hexagon bolt M8×40

46 Pump kit

47 Micro switch 

48 Suction tube assembly

RP-0230
Industrial Induction High Pressure Washer 230bar


